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Draw objects and cross out On this question you need to draw 12 sandwiches and cross out the number he has given away, this will give you your answer.
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Solving Word Problems

Holly has 16 chocolates
She eats 4 chocolates.
How many chocolates does Holly have left?

O -

Holly has| |chocolates left.

a Elliott has 8 toy robots.
He buys 3 more toy robots.
How many toy robots does Elliott have now?

O -

Elliott has toy robots now.
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'Sam makes 12 sandwiches.
He gives away 9 sandwiches.
How many sandwiches does Sam have left?

O

Sam has

sandwiches left.

° Lulu has 14 stamps.

She collects 5 more stamps.
How many stamps does Lulu have now?

O

Lulu has

stamps now.




